Some update for yesterday’s
meeting




The efficiency issue HEEEEEEEEEE—

e the low efficiency is mainly due
to the dumper efficiency

* Only 1.8% electron efficiency in
dumper

e 35% in Pt cut
e 16% in PID cut




Why it increase

 The rise in the efficiency is
mainly due to at high mass
point, we have more high pt
Bhoton which can give out
etter photon selection

 The drop of the efficiency is
due to at high mass region,
the isolation of electron and
muon became much worse,
we save less leptons than
before

Leading photon pt for different mass points
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Background estimation B
« mass sideband o
»Reverse-isolation -
e Use inclusive electron events -------------—————---———- > 1000;
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e Standard model Higgs background is TP T TR T T TOOTION: |
estimated from MC in signal region(120 — 130 GeV) Mass._yy (GeV)
TTH: 0.2
VH :0.06




lep PT

leptafterd

Entries 6370
Mean 4.432e+04
RMS  3.525e+04

To validate

0.03

e Assume the electrons and 0.025
photons act independently 0.02

* Photon cut wouldn’t effect the oot
shape of electron oo

e To check the lep_pt, shape flag ;s
by flag maybe works
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e The four guys are flag_pre,
flag_pt, flag_PID, flag_iso



When divide signal into different categories

 Two categories are defined by M_jj
hard: M_jj (60,100)
lep :M_jj <60 && lep_Pt>20GeV

Entries / 10 GeV

e Roughly 2/3 signal events will fall in
hardronic category and 1/3 in leptonic
category 5 |
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* In background will have 15 events and
10 in hardronic category and 1/3 in
leptonic category
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